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& . C SAT00001~ | KNPOOOO1~ | JTMOO001~ | JZZ00001~ | FTD00001~
E R HXC00001~ | PED00001~ | DHC00001~
R WA BEEE (&MH) BAfL B % % # {8
TP URE| m YRR EE
NATARY T min™ | 2350%£50 | 233060 2205 2205 2205
a—7A K)o min™ 98010 1005+25 830 830 830
" # Kk IR) (C) 90 90 (70) (70) (70)
(fF & 1 R) ‘C) 38~65 38~65 (70) (70) (70)
- T & M|
EEF AXMH mm 0.3520.05 | 0.35+0.05 | 0.35%0.05 | 0.35%0.05 | 0. 35%£0. 05
Ve PR AXH mm 0.35%0.05 | 0.35%0.05 | 0.35%0.05 | 0. 35+0.05 | 0. 35+0. 05
(Bl & % ) - - (VA HERE) (HHEms) (HIRERE)
¥ JERRE 1 X% KPa — 350 ~350 ~350 ~350
KRHEEMENZE kg/cn? 3.6 - ~3.6 ~3.6 ~3.6
NS (& # 7k iR ‘C) — — (20~30) (20~30) (20~30)
([ &5 & BE) (min™) 250 250 300 300 300
ROE B R A0 KPa — — —
PREHE ST BRERE S kg/cm? 184 184 — — —
WA ¥ BTy BBV RDERY mm 14~20 14~20 — — —
[ 2 F A [ke] (11.2) (11.2) — — —
FAYERE|T7rr bk g —/b KPa 225 250 300 300 350
kg/cm? 2.3 2.5 3.1 3.1 3.6
E VYA g — KPa 175 150 200 200 300
17 ke/cm? 1.8 1.5 2.0 2.0 3.1
s nv_/vj‘y Tu b g = N-m 30040 55060 300£40 30040 300240
w ;égg’:; kg'm | 30.6%4.1 - 60° HEkE | 60° HERE | 60° HEEE
2 V¥R 4—n N-m 30040 550£60 30040 30040 300+ 40
kg'm | 30.6%+4.1 ~ 60° HEHE | 60° HERG | 60° HERE
w0 v R V| EERSHOEN Jrln}ii 2B - 2% 2 2B
| 7721 A UEY B B 40 40 40 40 40
| b B
@ | NI ATT | V=T RE KPa | 2060+70-0 24100
Vo TR kg/cm® | 210+7-0 2805 280*5 280*5
EITT L% | A F DB mn — - - — —
RSy e Ry
. e mo| == | o | s 15 | e 19
B BN sE S mEN _ _ 9.0 9.0 10.5
o [ B km/h 35 35 35
g TRV R TR saE | 1/5mE | 1/5 mE
SRR = - (zes0) | (=) | (ze)
15, 600 15, 600 15, 600
il Eh A1 N
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RoLELSA=0 T mm — — — — —
ER=1r
_ FS ADRNE mm — — — — —
FZ A
ElrL—x ‘
BT cgsty TA=vIORS mm - - - - -
7
i Ny 77— MERT | Nem — - ~ — —~
B [ kg m
x N F4RIDES mm 7.09~4.94 | 7.09~6. 11 | 7oV} 6. 35~ | Juv} 6. 35~ | 7uv/} 7. 65~
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U v E DTS-, mm/min 10/5 10/5 10mm/10 43 | 10mm/10 43 | 10mm/10 43
BARBETE| N7y h~0AF] [ 4] (4] [45E] [ ] (4] (4]
[{E &) ¥ iR] (°C) (38~48) (54~82) 60~ 60~ 60~
tE iy b mm/min 15/5 15/5 10mn/10 43 | 10mm/10 43 | 10mm/10 43
(/3% b ~DART] [F ] [ ] (4] (4] (4] (4]
w5 [fE B) 1 iR] (C) (38~48) (54~82) 60~ 60~ 60~
EXHMEE|7T—oLET sec 6.1%0.4 | 5.2%+0.7 | 5. 0~5.5 5.0~5.5 5.2~5.7
[y h~DATT] [ &) (] (4] (4] (4] (]
i [ &) 1 ] (C) (60°C) (54~82) 60~ 60~ 60~
SNy ML sec 2.8+0.4 2.0%0.4 1.6~1.9 |[1.25~1.75| 1.6~1.9
[ v b ~DATT] [ #&] (4] (4] (4] [ ] (4]
[fE &) 1 1R] (C) (60°C) (54~82) 60~ 60~ 60~
Ny hED sec 2.4~2.9 |1.256~1.75| 2.4~2.9
[23%7 > M ~DAT] [F 4] — - (] (4] [4]
[V & #H R] C) 60~ 60~ 60~
g |10 E OB ERIBEERELS KPa | 23500350 | 24000+ 350 - — -
[jé kg/cm? | 239.6%3.6 - 281+4 281=+4 281+4
%é [fE B T ] C) (60) (50~65) | (50~65) | (50~65) | (50~65)
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MCCO0001~ JXMO0001~ | MWDO00O1~ | YYZ00O0O1~
Vi = B &
4. 64~ - — —
— 1 1 3
2. Tmm/5 4y 3 3 3
(4] (%] (4] (4]
54782°C - — -

2. 7mm/5 5y 3 3 3
(4] (4] (4] (4]
54~82°C (=) (=) (=)
6.1+0.4 2.7+0.5 | 2.7%0.5 | 4.2%0.5
(4] (4] (4] (4]
54782°C 45° =+5° 45° +5° 45° +5°
2.0%+0.5 2.1+0.5 | 2.1+0.5 | 1.8%+0.5
(4] (%] (4] [£E]
54782°C (=) (=) (=)
2.6+0.5 1.6+0.5 | 1.6+0.5 | 1.5%0.5
(4] (%] (4] (4]
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281+4 23 23 23
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A
R330 R430Z R530Z R630Z
& A A #30001~ | #20001~ | #20001~ | #20001~
K| HAEEET BEEE (G4 LXia i # F*& #e (A
T D VRE| D R
NATARD T min™ 2800 2670 2670 2670
u—7A K)o min? | 1000~1100 | 980~1050 | 980~1050 | 980~1050
(& & oK R (‘C) (70~90) (70~90) (70~90) (70~90)
(fF &) #h W) (‘C) (50£5) (50£5) (50£5) (50+5)
- £ 3T = M
WEFF A mn | 0.15~0.18 | 0. 18~0.22 | 0. 18~0.22 | 0. 18~0. 22
NG R A mm 0.15~0.18 | 0. 18~0.22 | 0. 18~0.22 | 0. 18~0. 22
@ E & (A RERE) (A HERE) (R HERS) (FRTERF)
v JFERERE ) MPa | 3.7~4.1 | 3.2~3.7 | 3.2~3.7 | 3.2~3.7
KA EREE 2= kgf/em? | 38~42 33~38 33~38 33~38
v (& H K R (C) (70~90) (70~90) (70~90) (70~90)
(E #= & ) (min™) | (k9 250) (#9 250) (%9 250) (%9 250)
®OR E E N A0 MPa | 13.7~14.7 | 13.7~14.7 | 13.7~14.7 | 13.7~14.7
PRBHE S BRARIE 7] kegf/em? | 140~150 | 140~150 | 140~150 | 140~150
oAl E| T BREYLRDRY mm 7 7 7 7
[ 2 T H] 68N (7kg) 68N (7kg) 68N (Tke) 68N (Tkg)
HAXEGIE | Tay b g—L MPa |0.32~0.34 | 0.19~0.21 | 0.21~0.23 | 0. 21~0. 23
kgf/em® | 3.2~3.4 | 1.9~2.1 | 2.1~2.3 | 2.1~2.3
& U ¥k q— MPa |0.32~0.34 | 0.19~0.21 | 0. 21~0.23 | 0. 21~0. 23
17 kgf/em? | 3.2~3.4 | 1.9~2.1 | 2.1~2.3 | 2.1~2.3
g (RN TFy | Tay b= N-m | 167~196 | 275~313 | 275~313 | 275~313
- ;#&%g;’:; Kefem | 17~20 28~32 | 28~32 28~32
P U ¥k —v N-m | 167~196 | 275~313 | 275~313 | 275~313
kgf/em® | 17~20 28~32 28~32 28~32
wm| N v R V| &R M OF mm : : : :
B 77 %al— o e e - - - -
| b B
g | NV ATT | V=T Y ME MPa 16.7 17.2 17.2 17.2
Vv SR kgf/cm? 170 175 175 175
EITT L—% | IV OBFER mn - - — -
AR =K 17.5 & 17.5 & 17.5 £ 17.5
il i mm
&
3 B8 mEAN 5 5 5 5
KiilEzbey:l (km/h) (15) 15) (15) (15)
B
EEE 7 L —% | ZIEFREAED = 15 15 15 5=
[AfRiReE] () [F5 ) [FE ] [FEH]




. . R R330 R4307 R5307 R630Z
LIV T 7 v A #30001~ | #20001~ | #20001~ | #20001~
Kol WESE BWEEE (G BANY & 5 #* i &
Fontsf=2 mm — — — —
4 X i
R hDRNEE mm — — — —
[N
Elrr—x \
AT s |TA=vIDREES mm - - - =
>
v Ny 7 Fl— MEST | Nom - — - -
2N %% kg m
* . FA4ATDES mm 3.25~3.35 | 3. 75~3.95 | 3.75~3.95 | 3.75~3. 95
| (TAAT (T svarTL—])
TL—F
Gast) | /%7 FORS mo - - -
& —
i i N mn - = - ~
| ms) | TEM
V=
|| 2127 |5y koms m | BT L= | BT = | T L= | T L
SN ENE) LA | FLEA | FLEM | *LFEH
YU F o VT YR mm/10min 20> 20> 20> 20>
H&EBETE| [Ny b~DATR] [F ] (4] Eid (4] [ 4]
[{E B i i8] (°C) (50£5) (50=*5) (50=*5) (50=%5)
e FIrY K mm/ 10min 20> 20> 20> 20>
[Ny h~DAERT] [F %] (4] (4] (4] (4]
" [1E &1 0 18] (C) (50%5) (50£5) (50%5) (50+5)
VEREMEE VI F T sec 3.4~4.4 | 4.5~5.5 | 5.3~6.3 5.3~6.3
[Ny b ~DBRF] [F 4] (4] (4] [ ] [4%]
- (& &) /3 iR] C) (50%5) (50=+5) (50£5) (50%5)
F ) F—fL sec 0.5~1.1 1.9~2.3 | 2.2~2.8 | 2.2~2.8
Niovg bk | N7y DA [F %] (4] (4] (4] (4]
& [{E &) 0 18] (C) (50+5) (50+5) (50=%5) (50=*5)
FN Y ERED sec 0.5~1.1 2.1~2.5 2.1~2.7 2.1~2.17
Ny e | [Ny R~ AT] [H ] (4] (4] (4] (48]
(7 &) ¥ 1E] (T (50+5) (50+5) (50%5) (50=5)
W OE B OB EEHRYY—TIES MPa 17.2 17.2 18.6 18.6
i kgf/cm? 175 175 190 190
% FEITV U —TEH MPa 29. 6 36. 8 41.2 41.2
B kgf/cm? 300 375 420 420
[ &) i E] (C) 50+5 (50£5) (50+5) (50+5)
8SDTLE & VZe&E : #635% 30001~30040 ¥21E. 0.21~0. 23Mpa (2. 1~2. 3kgf/cm?)
2 A ZERE - B 30041~1F, 0.32~0. 34Mpa (3. 2~3. 4kgf/cm?)
1
=




o~ L o @A

LK40Z-5 LK50Z-5
™A T F N 4
K4y RREGERT BAEEE (G BfL i % fi
Ty DU RE| =Y Bl
NATARY T min? | 2700%25 | 2700+25
a—7A4 Ky min™ 975+25 975+25
& # ok R C) =) =)
E & 1 ") C) G =
= £ T & M
wRFE AXMH mm 0.2 0.2
Ve EFH AFH mm 0.2 0.2
H E F& 5 (Vo REIER) (HFERE)
v JEMEE S X% KPa | 34301100 | 3430£100
R kg/em* | 35.0=*1 35.0=1
v (& #k IR c) (BEA%1%) (BEH1%)
(Bl &5 & BE) min™) | ( 250 ) (250)
ROR OB ER XVD KPa |19600~20600 | 19600~20600
SRR S BRAAIE ) kg/cm® | 200~210 | 200~210
woE A E Ty RV EORD mm — —
> 4] [ke] ¢ =) ¢ =)
A XREKJE| 7y MR 4= KPa 196. 1 215.7
kg/cm? 2.0 2.2
A& Yk —L KPa 196. 1 215.7
17 kg/cm? 2.0 2.2
M wa@-y A= P N-+m 343. 2 343.2
= ;%ﬁgg’:; kg-m 35.0 35.0
P U¥kg—n N-'m 343. 2 343.2
kg m 35.0 35.0
w0 v R V| EESROEY mm 20 20
z TET;;JV% 2 CEY AR i 40 40
g | ST ATT | V)T ey ME KPa 18100 18100
Uy rkE kg/cm? 185 185
EITT =% | XENVOENR mn | 20.0~40, 0 60.0
o BB K . RE -
)
4k B 6E m AP 3.0 3.0
LB Gm/h) | ( 15 ) (15 )
B .
BEY L —% |{EIAsEal 1/5ARCELL | 1/6E/R TR
[&friReE] (] (%]




LK40Z-5 LK50Z-5
WA & = F %
KA HRIEERT BREER (M) BANL i & b= {1
REGHETA =T mm — —
T &M
NNk mm — —
A
Elrp—x -
AT R | TA=VIOES mm - -
-
v Ny 7 Fl— MENT | Nem - -
Ll | ~vo kg m
* . T A AT DEE mm 3.85 3.85
s |TAR7 (70 rvarTL—F)
TL—%
gz |ty FOES mm - -
IE B
i 572s [Fosesr=2y mn - -
| GEX) | TEM
[ —
| |12 |ty roms - - -
||
Y U ED|T—n mm,/min 10/10 10/10
BRMETE| [(N7ry b~0&T] [F4] (4] (4]
[7F B W iR] (°C) (50~60) (50~60)
f Sk mn/min | 10/10 10/10
[y b~DAT] (A &) (4] (4]
2 [7F & Jh iB] (C) (50~60) (50~60)
fEEMWEE 77— sec 4.7 5.0
[y b ~D BT =g (4] (4]
3 [ B # &) (‘C) (50~60) (50~60)
N Ma L sec 1.3 1.2
[y b ~DAT] [F&] [4E] [4%]
& (e & iR] (C) (50~60) (50~60)
RVAVEN 1) sec 0.8 1.0
[y h~DAR] 4] [4E] (4]
[7E B JHh R] (°C) (50~60) (50~60)
g | MOE BB ERIEEREES KPa 20600 20600
I kg/cm? 210 210
% [VE & i8] C) | (55~65) | (55~65)
O EIT7 L —XOHIERENIT. IROBE HETHREERK,
(Bt 2 1) (mv P rRkmEllR) EREMET, BEXRE» RV &,
s @ EET L —FOEILTFREARIL. RO S HE TREFENM,
(A3 (=P Rmblin) AT, EREHN 2V &,
E4




e GRS AINV4
WA100-6 WA150-6
O ' F M A&
K5 REES BREHEE (&) BT B = &
TP URE | B
NATA R min? | 245050 | 245050
u—7A Ky 7 min™! 98025 980425
& #H ok R (°C)
(fE & ¥ 1) (C) (45~55) (45~55)
T F T o= M
WEF  AXHE mm 0.35 0.35
~ BSH Ax[M mm 0. 50 0.50
(B = & ) (¥ 15) (i)
v JERRIE 1 X0 KPa | 2900 £LE | 2900 Sk
KA MEREIE 7 kg/cm® | 30.0LLE | 30.0 Bl E
N & H ok R) (C) (40~60) (40~60)
(Il 8= & B) (min™) | (320~360) | (320~360)
[ I A v NI KPa SR SR
BRI I BR 4R kg/cm?
% OH OE B 7y VESHULRDIED mm
[# - 1 A [ke] THERRE) THEERE)
EAYERE| 70 bR —b KPa 220 240
kg/cm? 2.2 2.4
Z3 U4 — KPa 220 240
7 kg/cm? 2.2 2.4
| A= T Y Tay bk gL N'm | 80~100 80~100
B (;%gg’:; kg'm | 785~980 | 785~980
e Uk 4 —L N'm | 80~100 80~100
kg'm | 785~980 | 785~980
w0 v R V| EEFROES mm 40~80 40~80
it | 7—en L—
ol T e UEY ful i - -
g | NI ATT | V=T ME KPa 18.6 18.6
U TR ke/cm? 190 190
FITT v—% | RELVOFED mm 5 5
” B R [Z] |[20~22 F£] | [20~22 FE]
El
s HIBhEE mBLN 5 12
[ B0 ] (km/h) [20] [20]
A
Bra 7 L —% | {5 L ATRE QAT 1/5 1/5
[AfiREE] [Z=77] [Z2%7]




WA100-6 WA150-6
W A 4 't 7 N A&
K| REGET BREEB (&) ==¥iva L %5 &
KoGLETA =T mm — —
T
K ADNEE mm — —
RZ A
TL—x
#AT| g | TA=vITDORES mm - -
7
v RNy 7 L— ME | Nem - -
B %% kg m
x F 4 AT DEES mm 5.05~5.35 | 5.05~5. 35
| |TART |(ZvrvarTL—))
P
Rz |/Sy FOES mm - -
% .=
..% ;Zﬁﬂ? NSLLSA =y m - -
| GB) TEM
11/ ;ﬁii Ry ROES mm | 4. 62~4.78 | 4.62~4.78
% T
€52
VY o|T—A mm/min 20 LAF 20 AT
ERAKETE| [y h~0AfT] [ ] (4] [
[E B)  iE] (C) (45~55) (45~55)
1F AV mm/min | 17 BUF 17U
[ » b ~DETT] [ ] [ 4] (4]
" [YE 2h 0 R C) (45~55) (45~55)
ERHWEE| 7o RS sec 4.7~5.7 | 5.1~6.1
[N h~DERT] [ 1] [ 4] [ 4]
i [7E & i &) C) (45~55) (45~55)
Ny ML sec 0.8~1.4 | 0.8~1.4
[Ny h~DET] [ 4] [ ] (4]
" [fE B W I&] C) (45~55) (45~55)
Ry MED sec 0.5~1.1 0.6~1.2
[y b ~DET] (A 4] [ %] [ 4]
[fE &) i iR] C) (45~55) (45~55)
g (0OE BB ERIEEREED KPa 20.6 20.6
}% kg/cm? 210 210
%5 [ B) i &) (C) (45~55) (45~55)
WG )27 VD BREIE  BR LA E 7
WALOOM-3 (4D102E-1) =v¥ vyay7 12 % REYE(ETTHE L
s WA470-5, WA480-5 (SAAGDI25E-3 CRI) BmEBAIE TE RV ARYEEEL
BT V—F%T 4 27 DEE
WAL00M-3, WA380-5 T 4 A7 DEIFHE 2L
/Y VIR E O RITE S
| WHAR RO FERRORMSEEERICHEEL




2 B Bk

6SDTL5 6SDTLS 6SDTL10 6SDTL12 4SDK (L) 3
WA ' 7 v A 30001~ | #20001~ | #20001~ | #20001~
Koy MRAEERT BEER (&5 B ® 7= # #e &
TV VRS | Y o ERRRE
AT A FY T min? 2800 2670 2670 2670 3210
u—7y4 RKYs min? | 1000~1100 | 980~1050 | 980~1050 | 980~1050 | 1075~1125
& A oK ) (©) (70~90) (70~90) (70~90) (70~90) (80=)
(fE &) i R]) () (50%5) (50£5) (505) (505) (60=)
e 9 EF M
W& AXHE mm 0.15~0.18 | 0.18~0.22 | 0.18~0.22 | 0. 18~0. 22 | 0. 15~0. 25
> B AXR mm 0.15~0. 18 | 0. 18~0.22 | 0. 18~0.22 | 0. 18~0. 22 | 0. 15~0. 25
(B & & (HRERE) (¥aRarE) (#RERF) (FTERE) (FRER)
v JEREE 1 % MPa 3.7~4.1 3.2~3.7 | 3.2~3.7 | 3.2~3.7 |2.45~3.34
K HEREE 2= kgf/cm? | 38~42 33~38 33~38 33~38 25~34
v & H K IR (C) (70~90) (70~90) (70~90) (70~90) (75~85)
(B & % B) | in) | G920 | (92500 | (2500 | (R9250) | (49250)
ok OB |EH A0 MPa |138.7~14.7 | 13.7~14.7 | 18.7~14.7 | 13.7~14.7 | 11.8~12. 8
HREHE N RIS kgf/cm? | 140~150 | 140~150 | 140~150 | 140~150 | 120~130
woH E B 77 BB LR mm 7 7 7 7 7~10
[ > i A1 68N(7kg) | 68N(7kg) 68N (Tkg) | 68N(7kg) | 98N(10kg)
AAXERIE| 71y big — MPa | 0.32~0.34% | 0.19~0.21 | 0.21~0.23 | 0.21~0.23 | 0. 33~0. 35
kgf/cm® | 3.2~3.4%1| 1.9~2.1 | 2.1~2.3 | 2.1~2.3 | 3.4~3.6
# V¥ g — MPa |0.32~0.34 | 0.19~0.21 | 0.21~0.23 | 0. 21~0. 23 | 0. 33~0. 35
T kgf/cm? | 3.2~3.4 | 1.9~2.1 | 2.1~2.3 | 2.1~2.3 | 3.4~3.6
En nvﬂl/fw A= W LR N-m | 167~196 | 275~313 | 275~313 | 2756~313 | 118~147
= ;gg;’:; kgf-m 17~20 28~32 28~32 28~32 12~15
P VY& — N-m | 167~196 | 2756~313 | 275~313 | 275~313 | 118~147
kgf-m 17~20 28~32 28~32 28~32 12~15
w| N v R v EERS OB mm - — - - -
B r— %=l omp e i - - - - -
| b R
g | ST RATT Y V—7%v bNE MPa 16.7 17.2 17.2 17.2 —
DIV 3 - kegf/cm? 170 175 175 175 —
FITT L —F | _E VOB mm — — — — 25~35
BAHa% 0 R S =HE 17.5 & 17.5 & 17.5 B 17.5 £ —
| i mm
& NALVES mm - - - - 155
A HIEhAE m PN 5 5 5 5 5
- [hlEh g ] (km/h) (15) (15) (15) (15) )
FEEL Y L — % | {Z L PTREQAD B 15< 15= 15=< 15< 15=
[AFTIRAR] B [F ) [Fs ] Ei-f=A [FEw)




4SDK(L)4 | B5SDK(L)5 | 5SDK(L)6 | B5SDK(L)7 | 5SDK(L)8 | 5SDK(L)10
i G #% ¥ e

3210 2600 2600 2600 2600 2400
1075~1125 | 1250~1350 | 1250~1350 | 725~775 | 725~775 | 725~825
(80=) (80=) (80=) (80=) (80=) (80=)
(60=) (60=) (60=) (60=) (60=) (60=)
0.15~0.25 | 0.15~0.25 | 0. 15~0. 25 | 0. 15~0. 25 | 0.15~0. 25 | 0. 15~0. 25
0.15~0.25 | 0.15~0.25 | 0. 15~0.25 | 0.31~0. 41 | 0.31~0. 41 | 0.31~0. 41
(HrHERF) (HTRERF) (#1ERE) (IRHERE) ({BRERF) (IR HERE)
2.45~3.34 | 2.65~3.53 | 2.65~3.53 | 2.6~3.3 | 2.6~3.3 | 3.5~3.9
25~34 27~36 27~36 | 26.5~32.4 | 26.5~32.4 | 35,7~39.8
(75~85) (75~85) (75~85) (75~85) (75~85) (75~85)
(#9 250) (# 250) (%9 250) (#3 260) (#3 260) (¥ 260)
11.8~12.8 | 19.6~20.6 | 19.6~20.6 | 11.3~12.3 | 11.3~12.3 | 11.3~12.3
120~130 | 200~210 | 200~210 | 115~125 | 115~125 | 115~125
7~10 7~10 7~10 8~13 8~13 8~13
98N(10kg) | 98N(10kg) | 98N(10kg) | 98N(l0kg) | 98N(10kg) | 98N(10kg)
0.33~0.35 | 0.25~0.27 | 0.21~0.23 | 0.21~0.23 | 0.21~0.23 | 0.32~0. 34
3.4~3.6 | 2.5~2.7 | 2.1~2.3 | 2.1~2.3 | 2.1~2.3 | 3.2~3.4
0.33~0.35 | 0.25~0. 27 | 0.21~0. 23 | 0.21~0. 23 | 0. 21~0. 23 | 0. 32~0. 34
3.4~3.6 | 2.5~2.7 | 2.1~2.3 | 2.1~2.3 | 2.1~2.3 | 3.2~3.4
118~147 | 118~147 | 118~147 | 118~147 | 118~147 | 118~147
12~15 12~15 12~15 12~15 12~15 12~15
118~147 | 118~147 | 118~147 | 118~147 | 118~147 | 118~147
12~15 12~15 12~15 12~15 12~15 12~15

25~35 — — - — —

155 — — - — —

5 5 5 5 5 5

(9 (11) (1n (12) (12) (11)
15 15 15< 15 5= 15
[FHE] [ ] [(FEE ] [FEE] (] [FeE]




5 H Bk

X . B 6SDTL5 6SDTLS 6SDTL10 6SDTL12 4SDK (L) 3
R &P T 7OV A #30001~ | #20001~ | #20001~ | #20001~
Ko BRAEGEH REHEE (&) - BT i oy P % &
R G mm - - - — -
4 &/
RS ADRE mm — — — — —
KZ 2
7r—% .
wAT) qust) | TA=VIORS mm - — - — -
-
v Ny 7 FL— MEFT | Nom — — ~ - —
LA [\ kg m
* . T4 AT DES mm | 3.25~3.353.75~3.95 | 3. 75~3.95 | 3.75~3.95 -
| | TART |(ZYrvarTL—))
T1—%
gz |/Yy FOES mm — - - — 5.5~6
B
1NN - =
B s FoSLhESA= D mm — — — _ _
T1L—F
B ety |[TEM
1/ ?4}? o N L= L P L= =P
O e FORE S m | ETTL— | ETT— | ETTL— | BTV | ETTL—
) FLFFM | FEEA | LA | FEEA | FLEA
U EDIVT Y HE mm/10min 20> 20> 20> 20> 50>
HABETE| N7y h~0AR] [F ] (4] (4] (4] (4] (%]
[7E & 7 {&] (C) (50+5) (50=5) (50+5) (50%5) (505)
e FLrY H mm/10min 20> 20> 20> 20> 20>
[Ny b ~DET] 5 &) [4%] [f] E:3 (4] [FH]
. [7E &) ¥ &) C) (50x5) (50x5) (50=5) (50=+5) (50+5)
* EEMBEE| VT MY F T sec 3.4~4.4 | 4.5~5.5 | 5.3~6.3 | 5.3~6.3 | 4.7~5.7
[N b ~DATT] UF ] (4] (4] (4] (4] (]
- [fE & b E] ¢ (50%5) (50=5) (50%£5) (50=5) (50£5)
FNLIY HE L sec 0.5~1.1 1.9~2.3 2.2~2.8 2.2~2.8 3.1~3.9
Ny E [Ty h~DET] [ 4] (4] [#%] (4] (4] [F]
& [{E & /& J&E] (T (50+5) (50=*5) (50=£5) (50+5) (50+5)
F Y o EHED sec 0.5~1.1 2.1~2.5 2.1~2.7 2.1~2.7 2.2~2.6
Ny i 3w b ~DAR] UF ] (4] (4] (4] (4] [FH]
[fE &) b 1R] (°C) (50=%5) (50=£5) (50=%5) (50=%5) (50=£5)
MWOE Bl EREEEY Y —TES MPa 7.2 17.2 18.6 18.6 13.7
1 kgf/cm? 175 175 190 190 140
gg EFTVIY—TER MPa 29.6 36. 8 41.2 41.2 19.1
B kgf/cm? 300 375 420 420 195
[{E B i IE] C) 50=+5 (50+5) (50%5) (50+5) (50+5)
1 : 6SDTLS @ # A YZEEE « % 30001~30040 1ZiL. 0.21~0. 23Mpa (2. 1~2. 3kgf/cm?) .
HEF 30041 ~1X 0. 32~0. 34Mpa (3. 2~3. 4kgf/cm?)
i
2




4SDK (L) 4 5SDK (L) 5 5SDK (L) 6 5SDK(L) 7 5SDK (L) 8 5SDK (L) 10
& i S 7 &
5.5~6 - - - - -
ETTL— - - - - -
¥ LA
50> 45> 45> 45> 45> 45>
[A] [&] [&] [A] [#] [A]
(50%5) (50£5) (50+5) (50+5) (50+5) (50£5)
20> 40> 40> 40> 40> 40>
[#] [#] [F] [F] [A] (]
(50£5) (50£5) (50+5) (50£5) (50+5) (50£5)
4.7~5.7 3.6~4.4 3.6~4.4 3.6~4.4 3.6~4.4 3.6~4.4
[&] [&] [F] [F] (#] (#]
(50+5) (50£5) (50£5) (50=5) (50+5) (50=5)
3.1~3.9 2.2~2.6 2.2~2.6 2.2~2.6 2.2~2.6 2.2~2.6
[&] [&] [#] [A] [A] [#]
(50£5) (50£5) (50+5) (50£5) (50+5) (50£5)
2.2~2.6 1.5~1.9 1.7~2.1 1.7~2.1 1.7~2.1 1.7~2.1
[&] [(#] [F] [A] [A] [#]
(50%5) (50%5) (50%5) (50%5) (50+5) (50=5)
13.7 16.7 14.7 16. 7 16.7 18.6
140 160 150 170 170 190
19.1 21 21 21 25 30
195 214 214 214 255 306
(50%5) (50£5) (50=5) (50%5) (50£5) (50+5)




ERVA =i

W20 ZW30 ZW40 ZW50 ZW80
M & ' F NV A&
Ko WREEDT WEEE (&) YA ® x #* #e (:A
T UV UK | YRR E
NATA R T min? | 2600~2735 | 2350~2450 | 2350~2450 | 2400+50 | 2350%50
u—7A4 K)o min? | 1050~1200 | 900~1000 | 900~1000 | 95050 1100+50
& H KR (C) (5084 £) (50£4 ) (5024 ) 5084k 50 A b
(1 & 5 ) (50+5) (50£5) (501£5) (50+t5) (60=5)
- T & M
WEFHF  AFME mm  |0.145~0.185| 0.18~0.22 | 0.18~0.22 | 0.18~0.122 | 0.13~0.17
v PR AXME mm  |0.145~0.185| 0.18~0.22 | 0.18~0.22 | 0.18~0.122 | 0.13~0.17
H F & ) (¥R FIRE) (¥ fEIRE) (FTRIRE) (‘B TEIE) (e
o JEMBIE ) X MPa | 2.8~3.2 | 2.9~3.2 | 2.9~3.2 | 2,9~3.2 3,92
R EMRILE 2 Kg/cm? 29~33 30~33 30~33 30~33 400
% (% # Kk 1B °C) (EHgtk) (1) (1R (%) (BRt2)
(Bl & = ) (min™) (250) (250~270) | (250~270) | (250~270) (250)
ROk B (B Ao MPa | 13.8~14.7 18.6 18.6 18.6 18.6~19.6
PREME ST BRAAE ) kg/cm® | 140~150 190 190 190 190~200
S H ¥ BTV oBEVLRDRD mm 10 7~9 7~9 7~9 7~9
- 7] (ke] [10] [6~7] [6~7] [10] [10]
XA ¥YEZE| 70y bhg—v KPa 200 215 235 235 240
kg/cm? 2.0 2.19 2. 40 2. 40 2.4
= V¥R 14— KPa 200 215 235 235 240
17 kg/cm? 2.0 2.19 2. 40 2. 40 2.4
g | R A —Fy | 7ay bk g — N-m | 273~300 | 375~412 | 375~412 | 375~412 | 494~604
= F,&Uvﬁ” b kg'm | 27.8~30.6 | 38.3~42.1 | 38.3~42.1 | 38.3~42.1 | 50. 4~61. 6
= OFE S by
P V¥ g —v N-m | 273~300 | 375~412 | 375~412 | 375~412 | 494~604
kg'm | 27.8~30.6 | 38.3~42,1 | 38,3~42.1 | 38.3~42.1 | 50. 4~61.6
| v R v FEERSEOEY mm 20~40 20~40 20~40 20~40 20~40
| 7 —rsear— MUEY AR i3 42 41 41 41 40
b R
| U= ATT | V) =Ty b MPa 17.2 17.2 17.2 17.2 23.6=0.5
Vo rEE kg/cm? 175 175 175 175 240+5
ETT L —F | _FLOEER m 10 10 10 10 10
) Ba% 01X mm 160 160 160 160 115
E5)
4 il ®hEe mUA 5 5 5 5 5
(9 km/h [15] [15] [15] [15] [15]
B
BreE 7 L — % | {ZIEATEE AR 1/5 1/5 1/5 1/5 1/5
(AR EE] [#] [ %] [ 4] (4] (4]




ZW90 ZW100 7W120 7W140 ZW150
I = p-e iR
2550560 | 2230450 | 2230+50 | 2310%25 | 2310%25
1100£50 930+25 93025 900+25 900+25
50 LAk GOLAE) (| (BOLLE) | (50°CELL) | (50°CELL)
(50=+5) (50+10) (50%10) (50=%5) (50£5)
0.13~0.17 | 0.23~0.27 | 0.23~0.27 0.254 0. 254
0.13~0.17 | 0.23~0.27 | 0.23~0.27 0. 508 0.508
(TR (¥m R ) () (¥ FET ) (5 R )
3.92 3.09~3. 29 | 3.09~3. 29 — —
400 31.5~33.5( 31.5~33.5 — —
(%) (REHLR) (%) -
(250) (200) (200) — -
18.6~19.6 | 2E/—W IR EEI 2E/ V-
190~200
7~9 10 10 8~12 8~12
[10] [10] [10] [10] [10]

240 235 216 350 325
2.4 2.4 2.2 3.6 3.31
240 235 216 350 325
2.4 2.4. 2.2 3.6 3.31

494~604 890 890 890 890
50. 4~61.6 89 89 91 91
494~604 890 890 89 89
50. 4~61. 6 89 89 91 91
20~40 5~15 5~15 5~15 5~15

40 40 40 40 40

23.6+0.5 17.2 17.2 19.6 19. 6
240+5 175 175 200 200

10 0~5 0~5 0~5 0~5
105 — — — —

5 5 5 14 14
[15] (20) (20) [35] [35]
1/5 1/5 1/5 1/5 1/5
(] (4] (4] (4] (4]




ERVA=:y5:

%20 ZW30 ZW40 ZW50 ZW80
WA A ' F N 4
K& AT WREHEE (&H4) BAfir 053 # = Ut &
R LL T =D mm — — - — —
i
R ADHE mn - - - — -
KFZ A
Elrr—=x
g ggs) | TA=VIORES mm - - - - -
A
v Ny FL— T | Nem — — — — —
LA kv kg m
x R F 4RI DEE mm 2.1~2.25 | 2.1~2.256 | 2.1~2.25 2.25 1.2~2.6
we| |TART
TL—%
Gpst) |/t FORS mm - - - - -
(23
A —
% ;‘Zﬁ* NS LLTA=20 mn - - - - -
| e T &R
Vs izs | o = 2.1~2.25 | 2.1~2.25 | 2.1~2.25 2.25 1.2~2.25
L|7Lox |TAR7ORE "o Gee | BTV | BTV | L GRS L
(=0 —FFA) | —FFM | XM | XM | %A
TV E DT mm/ min 6/5 3/5 3/5 3/5 8/5
B#ETE| X7y h~0AH] [F 4] (4] [4%] [4%] (4] (4]
[fE &) il R] 49 (50+5) (505) (50£5) (5015) (50+5)
e Ak mn/min | 11/5 B ~ /5 8/5
(7 b ~D AT E=g:al (] (4] (4]
[fE &) R] (©) (50£10) (50+5) (50=5)
. & % 8 3 | 7 — 4 ki sec 4.6%+0.5 | 5.0%£0.4 | 5.0+0.4 | 5.0%0.4 | 5.0%0.5
[Ny b ~DAFT] [F %) (4] (4] [ 4] [ (4]
- [fE & ¥ iR] (C) (50+5) (50=%5) (50+5) (50£5) (50+5)
Ny MEL sec 1.0%0.3 1.0£0.3 1.0%£0.3 1.0%0.3 1.0£0.3
Ry F~DATT] (A ] (4] K [ 4] (4] (4]
& [fE &) ’] &) (50=%5) (50=5) (50£5) (50=%5) (50£5)
Ny MRS sec 1.3%£0.3 1.5+0.3 1.5+0.3 1.5+0.3 1.3£0.3
(7w b ~DATT] [ 4] (4] (4] [4%) (4] (4]
[fE B 1 &] 4{®) (50+5) (50+5) (50+5) (5015) (50+5)
| HOE BB ERIBERERE S MPa | 20.6=1.0 | 20.6+1.0 | 20.6%+1.0 | 20.6+1.0 | 20.6%0.5
£ kg/cm? | 210%10 210+10 210+10 21010 210+5
§ [ & H ] () (50=5) (50+5) (50£5) (50=5) (50£5)
i
=z

*E)  FTEAEEERT,



ZW90 ZW100 ZW120 ZW140 ZW150
i = % #e (A
4.3 6.2 6.2 FHET. 2 FEHET. 2
AR 6. 2 | ERIRR 6. 2
4.3 2. 47 2. 47 LMD 5 | FMED S
G WARR 2.2 | HFIRR 2. 2
8/5 15/5 15/5 45/5 45/5
ki (4] (4] (4] (4]
(50+5) (50+10) (50 10) (50%5) (50%5)
8/5 10/5 10/5 15/5 15/5
(4] (%] (4] ki (4]
(50£5) (50=10) (50+10) (50=5) (50=x5)
5.0X0.5 | 5.0+0.3 5.0+£0.3 | 6.0+0.3 | 6.7%0.3
Eidl [{E] (4] (] (%]
(50=5) (50=10) (50£10) (50+5) (50=5)
1.0+0.3 | 1.5+0.3 1.8%0.3 1.3%0.3 1.4+0.3
(4] (%] (4] [ 4] Eid
(50%5) (50+10) (50+10) (50%5) (50%5)
1.310.3 | 1.0+0.3 1.240.3 — —
(4] [4E] (4] - -
(50=5) (50+10) (50+10) - -
20.6%0.5 20. 6 20. 6 20. 6 20.6
210%5 210 210 210 210
(50+5) (50£10) (50+10) (50+10) (50£10)




R7Fx v b

S70 S100 S130 S150 S160
A & T F N 4
K4 BREEDT BREER (5 B Ui x % # (!
TP URE | Y B
NAT ARV T min? | 3125~3175 | 3175~3225 | 2760~2900 | 2760~2900 | 2760~2900
o—7A4 K)o min? | 1125~1176 | 1176~1225 | 10756~1225 | 1075~1225 | 1175~1325
(& # ok IR) (0 (50+10) (50=10) (5010) (50+10) (50+10)
(fE B) W R) (C) (60+10) (50=10) (5010) (5010) (5010)
- T & M
W AXM mn  |0.145~0. 185(0. 145~0. 185| 0. 18~0.22 | 0.18~0.22 | 0. 13~0. 17
Ve Pexr XXM mn  |0.145~0.185(0. 145~0. 185| 0. 18~0.22 | 0.18~0.22 | 0.13~0. 17
G = & ) (R (R (Ve Rs) (¥ THIRE) (AR
o JERRIE 1 XX MPa 3.7~4.1 3.7~4.1 | 2.9~3.2 | 2.9~3.2 3.2
KRR 2= kg/cm? 38~42 38~42 30~33 30~33 33
v B & K B C) | (R | (B | BBER) | B | ERER)
(B] 8 3 AD) (min™) | (200~300) | (200~300) | (200~300) | (200~300) | (200~300)
wOE B B|ER LD MPa |13.7~14.7 | 13.7~14.7 | 18.6~20.1 | 18.6~20.1 | 18.6~20. 1
BRBHE I B AR kg/cm® | 140~150 | 140~150 | 190~205 190~205 | 190~205
mw oA | T UREVLROED mm — — — — —
(# o i Al [ke] [—] [—] [—] [—] [—]
ZAVERE| 7y bR — KPa 345 310 373 373 373
* kg/cm?® 3.5 3.1 3.8 3.8 3.8
& Uk g —ib KPa 345 310 373 373 373
7 kg/cm? 3.5 3.1 3.8 3.8 3.8
4t n‘w»—/lxjy A= iy N-m | 190~217 | 190~217 | 190~217 | 190~217 | 190~217
= ;ggg’:; kg-m | 19.4~22.1{19.4~22.1]19.4~22.1|19.4~22.1|19.4~22.1
2 Uk 4 —s N-m | 190~217 | 190~217 | 190~217 | 190~217 | 190~217
kg-m | 19.4~22.1119.4~22.1 | 19.4~22.1|19.4~22.1| 19.4~22.1
| v F V| EESROEY mm — — — — —
7T rar | m [ - - - - -
| b B
g | SV ATT | V=T kY bE MPa — — — — —
Uy skE kg/cm? - - — — —
EITT L —% | RENVOEENR mm — — — - —
| ¥ 2/ A mm — — — — -
& R .
il UL mBLA 5 5 5 5 5
4 (DR ] km/h [8.5] [8.5] [8.5] [8.5] [8.5]
B a1 — | S waan 1/5 1/5 1/5 1/5 1/5
[ATrikEE] (4] (4] [4) (4] (4]
KIZHEL 1 ¥ DG




S175 S185 $205 $630 $650 8750 S770 $850
B i # 7 &
2760~2900 | 2760~2900 | 2760~2900 | 2525~2650 | 2525~2650 | 2525~2650 | 2525~-2650
1075~1225 | 1175~1325 | 1175~1325 | 1250~1450 | 1250~1450 | 1250~1400 | 1250~1400
(50%10) | (50%10) | (50%=10) | (50%10) | (50%10) | (50=10) | (50%10) | (50=£10)
(50%10) | (50%10) | (50+10) | (50%10) | (50%10) | (50+10) | (50%10) | (50=10)
0.18~0.22 | 0.13~0.17 | 0.13~0.17 | 0.13~0.17 | 0. 13~0. 17 | 0.23~0.27 | 0. 23~0. 27 | 0. 23~0. 27
0.18~0.22 | 0.13~0.17 | 0.13~0.17 | 0.13~0. 17 | 0. 13~0. 17 | 0.23~0.27 | 0. 23~0. 27 | 0. 23~0. 27
(RF) | eER) | el | GHE) | GFR) | WEE) | GB#ER) | @EE)
2.9~3.2 3.2 3.2 3.9 3.9 3.5 3.5 3.5
30~33 32.5 32.5 39.8 39.8 35.7 35.7 35.7
(Bwte) | (R | () | BER) | GE) | ) | ) | G
(200~300) | (200~300) | (200~300) | (200~300) | (200~300) | (200~300) | (200~300) | (200~300)
18.6~20.1 | 18.6~20.1 | 18.6~20.1 | 18.6~19.6 | 18.6~19.6 | 18.6~19.6 | 18.6~19.6 | 18.6~19.6
190~205 | 190~205 | 190~205 | 190~200 | 190~200 | 190~200 | 190~200 | 190~-200
[—] [—] [—] [—] [—] (] (-] (-]
373 373 373 412 412 412 412 552
3.8 3.8 3.8 4.2 4.2 4.2 4.2 5.6
373 373 373 412 412 412 412 552
3.8 3.8 3.8 4.2 4.2 4.2 4.2 5.6
190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 434~474
19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 19.4~22.1|19.4~22.1 | 19.4~22.1 | 44. 3~48.3
190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 434~474
19.4~22.1|19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 44. 3~48.3
5 5 5 5 5 5 5 5
[8.5] [8.5] [8.5] [8.5] [8.5] [8.5] [8.5] (8.5]
1/5 1/5 1/5 1/5 1/5 1/5 1/5 1/5
(%] (4] (%] (%] (%] (%] (%] [H]

*7" A beAR7 yVany N ERCHRIET A Z L,




AT F v v b

) S70 S100 5130 5150 5160
O & ®= ¥ 0 4
K4 BRESHRT BRAEEE (§&45) BAfT licd 7 p- e B
RS LETA =0 mm - — —~ — —
it
KZ LORE mm — — — — —
FZ A
Elrr—x -
#1T| @pzt) | A=V ORES mm — - — _ _
-
v Ny FL—bERFT | Nom - - - - —
Ll | %4 kg-m
N . T4 AT DRE mm - - - - -
45 TAART
VA
GE=) |7y FOEE mn - - - - -
E .=
%.;5ﬁ% FInLTq=2y mn - - - = -
s INC RV
P ]
! ZL25 |Farroms mm B N N B B
(@80
U E DT A mm/min 50/15 50/15 50/15 50/15 50/15
AARBETE| N7y b~/ [F ) [#F] [#] [#H] [#] [F]
[{E & 7 i8] °C) (60£10) (60=10) (60+10) (60£10) (60£10)
e * AU AN mm/min 40/15 40/15 40/15 40/15 40/15
[ > b ~DAR] [ ] [#F] [FH] [H] [H] [H]
” [fE B # J&] (C) (60=10) (6010) (60£10) (60=10) (6010)
E¥XBWEE 7—u kT sec 3.6 2.8 2.7 3.3 3.3
(2347 v b ~DATH] E=gidl [4%] (4] (4] (4] [4%]
- [7E B ¥ iE] (°C) (50+10) (50%10) (50=10) (50%10) (50=10)
Ny MEL sec 2.1 1.6 2.2 2.5 2.4
[Ny b ~DAT] [ 4] (4] (4] (&) (4] (4]
= [fE & ¥ iR] C) (50£10) (50410) (50+10) (50%+10) (5010)
2y MR sec 1.7 1.2 1.9 1.9 1.9
[Ny b ~DATT] [F ] [4%] (] (4] (4] [f]
[fE &h 1 J&] (C) (50+10) (50210) (50=10) (50%+10) (50+10)
| WOEE R EEEREES MPa | ¥¥1) 13.8 20.6 | 18.3~19.022.4~23.1 | 22.4~23.1
H kg/cm? 140 210 190~194 | 228~243 | 228~243
g [1E & 7 i8] (T) (50%10) (5010) (5010) (5010) (50+10)
1) AMERIRE 1T 20. 6Mpa (210kg/ cm?)
fis
=




S175 S185 $205 $630 $650 $750 S770 S850
i 7= p-* #e 1B
50/15 50/15 50/15 50/15 50/15 50/15 50/15 50/15
[FH] [H] [F] [A] T#] [F] [F] (]
(60£10) (60=10) (60+10) (60£10) (60£10) (60£10) (60£10) (60£10)
40/15 40/15 40/15 40/15 40/15 40/15 40/15 40/15
(%] [H] £ [F] %] [&] (%] &)
(60£10) (60+10) (60£10) (60+10) (60+10) (60+10) (60+10) (60£10)
3.5 3.5 3.6 3.4 3.9 3.9 3.3 5.7
[ 4] [ 4] (4] [4] [ 4] (4] [4] (4]
(50+10) (50=10) (50+10) (50%£10) (50%10) (50=10) (50£10) (50+10)
2.4 2.4 2.6 2.3 2.3 2.3 2.4 2.8
[4m] [ 4] (4] [4E] [ 4] [4%] [4E] [48]
(50£10) (50+=10) (50+10) (50+10) (50£10) (50£10) (50%10) (50%10)
1.9 1.9 2.0 1.7 1.7 1.7 1.9 2.3
[fm] [ 4] (4] [4E%] [ 4] [f%] [4E] [f]
(50+10) (50=10) (50+10) (50+10) (50+10) (50%10) (50£10) (50+10)
22.4~23.1|22.4~23.1{22.4~23.1|23.8~24.5|23.8~24.5 | 23.8~24.5 | 23.8~24.5 | 23.8~24.5
228~243 228~243 228~243 | 243~250 | 243~250 243~9250 | 243~250 243~250
(50%10) (50=10) (50+10) (50+10) (50+10) (50%=10) (50£10) (50+10)




KCM (H19. 11~352)

50ZV-2 60ZV-2 65ZV-2
M = F L 4
K4y HREERT HRAEHEE (Gt Bz % * %= ¥ (=8
SIS v | e s | =5y
NATARY T min™ 2235 2450 2450
a—7A K7 min™ 800 875 800
& H ok B (0) (50~80) (50~80) (50~80)
(fE & 1 R) (C) (50~-80) (50~80) (50~80)
= Sl - S
WESH AXM mm 0.35 0.35 0.4
v s 2xM mm 0. 50 0.50 0.4
B E &) (1mFEEE) (7 fRIEs) (1eTEs)
v JEREE T MPa — — 2.84~3.24
R EEREE ) 7= MPa - — 0.294
v & # ok R (0 - - (Eig12)
(B & & B) (min™) — - (200)
B OB OB (|EHR A0 MPa SEn TNV S
PREHE S B RAE ) - — -
W H ¥ E|77 BV EORD mm 8~12 — 8~12
[ > 7 7] N (98) () (98)
A AXZEEFIE| Ty Nk —)v kPa 314~333 | 196~216 | 422~441
& UY R4 — kPa | 216~235 | 196~216 | 324~343
.
S n‘w-\fkf\y Tay kg =V N-m 892 892 892
= ;égg’:; kg-m 91 91 91
7 U¥ad4— N-m 892 892 892
kg-m 91 91 91
w7 v B v EEFROER mm — — —
z 7;#7;1 1/% AR Y 4 3 10 40 40
g | RT—ATT | VY —=TEy ME MPa 17.2 17.2 20. 6
Vv JikE kg/cm’ 175 175 210
ETT L—F | REVOBFEN mm 0.5~1.5% | 0.5~1.5% | 0.5~1.5%
" AT D R mm — — —
E
s e mBAA 5 5 5
(B ) ok B (km/h) (20) (20) (20)
B
BE T L —% [{F1LFTREARD 1/5%) B Tl | 1/54)E Tl | 1/5A8 T Lk
[AFRRE] ] [#] (4]







KCM (H19. 11~%&53)

- . = . oa 50ZV-2 60ZV—2 65ZV-2
A N 7 ]
X4y HREEET BMEHEB (%5 ==X 72 e x5 = b &
RorETA =0T mm — — —
T X[
KT ADONE mm — — —
FZ A
Bl 7
AT ms) | TA =V OES mm — — —
7
v Ny 7 FL— R MESFT | Nem - — -
B rZ kg m
x . FARIDES mm 8.7 8.7 9.0
| |[TAR7 (G rvarTL—})
TL—3F
Gz |Vy FOES mm - — -
& -
%é ;Zfﬂ% RSDLSA=v m 0.2 0.2 0.23
| R &
i ZL2L |y roRs mm — - —
Y E DT —A mm/min 3.0 3.0 3.0
BRBETE|l [Xry b~0&7F] (A &) (4] [#%] (%]
(e &) 1 '] () (50~80) (50~80) (50~80)
fF N b mm/min 2.0 2.0 4.0
[y b ~DEF] (] (4] (4] [4%]
(fE & 3 1&] C) (50~80) (50~80) (50~80)
* EE B E | 7 —Aa kT sec 5.4 6.0 5.8
[R5y b ~DET] [ £ (] (4] [#%]
g [fE & ¥ 1&] (C) (50~80) (50~80) (50~80)
= Ny MEL sec — — —
[Ny b ~DAR] [ 1] - - -
& (/& 8 K] (C) — — —
Ry RHED sec — — —
[ v DA [F ] - — -
[/E 8 # &) (C) — — —
w HOE BB EREERERES MPa 20.6 20.0 20.6
£ kg/cm? 210 204 210
%é [VE & W 5] (C) | (50~80) | (50~80) | (50~80)
O EITF7V—FORIEEENIL, RO S Ik TREE T,
(% 238 (=P REREE) ELEE T, EXEMNRNT L,
s Q@ BHETL—X0EEFREAEIL. ROBHHETHREER.,
5 3 18) (oo P rRREE) EREG T, ENENRNI L,
® FAYERILL, BES A VESROEREETRT, EEXAVILELEEREIZTTREDZ &,
@ ATy roMIEL/MEDOEERX, BESNTEY FEA,
| * T—AbwRFFyany FETHEST S &,




B




TCM

703 704 705 706 707
W A T T N A4
Koy RRAERT WREEB (&) HAfL " # % ¥ &
TV URE | P R
NATARY T min 3000 3000 2600 2600 2600
u—7A RJ 7 min™ 1200 1200 800 800 850
(& H Kk B C) (50+10) (50+10) (50%10) (50+10) (50+10)
(fE &b h 8 C) (50=10) (50£10) (50%10) (50+10) (50+10)
- £ T & M
RS AR mm 0.145~0, 185 | 0.145~0.185 | 0.145~0.185 | 0.145~0.185 | 0. 18~0. 22
Mg B AXM mm 0.145~0.185 | 0.145~0.185 | 0.145~0.185 | 0.145~0.185 | 0. 18~0. 22
@ E & M (W FEIRE) (&) (FERs) (MR (W5 FEIRRE)
v FEHEET I X MPa 2.8~3.2 | 2.8~3.2 | 2.8~3.2 | 2.8~3.2 | 3.2~3.7
SfEEERELE = Ke/cm? 29~33 29~33 29~33 29~33 33~38
v & #H K IR (C) (Bi#t%) (BEH) () (%) (B#%)
(B &% & ) (min™) 350 350 350 350 (300)
OB B (S Ao MPa 13.9 13.9 13.9 13.9 13.7
PREHES R E T keg/cm? 142 142 142 142 140
w oA B TrUREL DR mm 7 7 7 7 7
| > Al (kg] [10] [10] [10] [10] [10]
A ¥EFE |72y bk 4= KPa 275 275 275 275 275
kg/cm? 2.8 2.8 2.8 2.8 2.8
& V¥R g —v KPa 275 275 275 275 275
17 kg/cm® 2.8 2.8 2.8 2.8 2.8
3 | BA—AVTF Y Tay bl —L N:m | 143~172 | 143~172 | 143~172 | 143~172 | 143~172
= ;égg’:; kg m | 14.6~17.5 | 14.6~17.5 | 14.6~17.5 | 14.6~17.5 | 14.6~17.5
P U ¥k =L N+ m | 143~172 | 143~172 | 143~172 | 143~172 | 143~172
kg *m | 14.6~17.5 | 14.6~17.5 | 14.6~17.5 | 14.6~17.5 | 14.6~17.5
| N YR VG (b3 —dek) mm 5~10 5~10 5~10 5~10 5~10
zz 7;“7;;1‘; MY A B — — — — —
& N —2F 7 | ))-7¥y = kg/cn? - - - - -
VU SERE MPa
EfTT L —F | _RENVDFENR mm 20 20 20 20 20
i W a% 0 R mm — — — _ _
&
4k HEheE mEIN 1.0 1.0 1.2 1.2 1.5
Ak B km/h [9] (9] (11] [11] [11]
B
B#ET L —% | {FILF AR 1/5 1/5 1/5 1/5 1/5
[AfrkEE] (] (4] (4] k3 [ 4]




709 711 711-2
= &
2600 2600 2600
850 850 850
(50+10) (50=10) (50+10)
(50+10) (50+10) (50+10)
0.18~0.22 | 0. 23~0. 27 | 0. 23~0, 27
0.18~0.22 | 0.23~0. 27 | 0. 23~0. 27
(VE THIRE) (VT ERE) (1RTHIES)
3.2~3.7 | 2.8~3.2 | 2.8~3.2
33~38 29~33 29~33
(HEH%) (BH) (BEREt%)
(300) (350) (350)
13.7 13.9 13.9
140 142 142
7 7 7
[10] [10] [10]
275 255 255
2.8 2.6 2.6
275 255 255
2.8 2.6 2.6
143~172 | 143~172 | 143~172
14.6~17.5 | 14. 6~17.5 | 14.6~17.5
143~172 | 143~172 | 143~172
14.6~17.5 | 14.6~17.5 | 14.6~17.5
5~10 5~10 5~10
20 20 20
1.5 1.0 1.0
[11] [10] [10]
1/5 1/5 1/5
[4#] (4] (4]




TCM
) 703 704 705 706 707
™ A % P = F N 4
K4 BREGET WREHEE (FH) ETivg % 7 - #e {1
KoFhbof = mm - — — — —
4 & ]
ISZANOINES mm — - — - -
K7 A
ElrL—x
g X gy | TAEVIOES mm — — - _ _
>
v Ny FL—hEHT | Nom - - - - -
B M2 kg » m
* ) T4 AT DES mm 5.5 5.5 5.5 5.5 5.5
o FAART
TL—F
Gezty) |y FORE mm 8 8 8 8 8
- (e
(=R
1NN o= =
BE | . FoLELTA=T mm — — — — _
TL—F
st | TEM
| =
FARY | = 5.5 5.5 5.5 5.5 5.5
Li7i=s 7177088 "o Ty | BT | (RATL | (BT | BT
Bz —xFH) | —F%#A) | —F}FA) | —FIHEA) | —FAD
Y ED| TN mm/min 40/15 40/15 40/15 40/15 40/15
BEHRBETE| [Nry h~0&H] [ ] [F] (] [F] [#F] [F]
[{E & W &) (C) (60) (60) (60) (60) (60)
fF Ny b mm/min 35/15 35/15 35/15 35/15 35/15
[N b ~DEATT] (5 ] k=g [FH] [FH] k=g [A]
% [1E & i 1&] (C) (60) (60) (60) (60) (60)
B EE| 7 —a sec 5.0~6.0 | 5.0~6.0 | 4.6~5.6 | 4.6~5.6 | 4.6~5.6
(X7 b ~DET] [ 4] (] (] (4] (4] 4]
= [7E & 1 &) (T) (60) (60) (60) (60) (60)
Ny ML sec 2.5~3.5 2.3~3.5 2.3~3.3 2.3~3.3 2.56~5.5
[N o b ~DATT] (A ] (4] (4] (] (4] (4]
= [fE & i &) C) (60) (60) (60) (60) (60)
Ny MED sec 1.8~2.5 1.8~2.5 1.7~2.4 1.7~2.4 1.8~2.5
(/X7 o b ~DET] () k3 (4] (] (] (4]
[ & # &) °C) (60) (60) (60) (60) (60)
g R BB SRR REEREE T MPa | 12.3%+0.49 | 12.3+0.49 | 14.7+0.49 | 14.7+0.49 | 17.240. 49
E kg/cm? 125+5 125+5 1505 1505 175%5
%é [fE B M i8] (C) (60) (60) (60) (60) (60)
fiig
£




709 711 711-2
()
5.5 5.5 5.5
8 8 8
5.5 5.5 5.5
(EfT7L | FET7V | EfT7V
—%FH) | —FkH — 3 FHH
40/15 40/15 40/15
- [A] [FH] [F]
(60) (60) (60)
35/15 35/15 35/15
[FH] [FH] (7]
(60) (60) (60)
4.6~5.6 | 4.6~5.6 | 4.6~5.6
(4] (4] [f]
(60) (60) (60)
2.5~5.5 | 2.5~3.5 | 2.5~3.5
[4%] (4] [4&]
(60) (60) (60)
1.8~2.5 1.8~2.5 1.8~2.5
(4] (4] (4]
(60) (60) (60)
17.2+0.49 | 16.720.49 | 16. 720, 49
175%5 170=%5 1705
(60) (60) (60)




59 8—- 23Rl (RA—ILHK) RE - BirEEER

FRE104F 9 A
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